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SECTION A

(a) What is the importance of fiscal functions of the
state with respect to allocation distribution and
stabilization? Explain. (93

(b) Discuss why imperfect competition may lead to

Pareto inefficiency especially under monopoly
market structure. (6)
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(a) What are externalities? How do these lead io
market failure? . (6]

{b) Discuss with the help of a diagram, the gains and
losses to the society from moviag from a socially
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(2) Many government phrantks both redist
income and correct & itket failure, W
the market failures M with each bf&ese
programs’

(1) Social security
(i) Public elementilyy education (6)

‘%) ‘ln deafing with a ne
Pigouvilin tax and Pigd 5
“ an equally efficient onteme wi

distributional consequences.’ Biscuss.
problems associated ’m thie Pigou

program.
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¢a) What is tax incidence? What are the various
alternative concepts of tax incidence? (7

(b) Explain using diagrams how introduction of a tax
into a competitive market creates a wedge between
the price that buyers pay and the price that sellers
receive in the case of (i) Unit tax (i1) Ad-valorem
tax (8)
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Write short notes on any two

(a) Pareto optimal conditions for the provision of public
and private goods (use diagrams) (7.5)
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ity possibility curve and welfare maxxmlzﬂion

o (7 5)
Role of coverage and time period in the éistnbﬁhbn
»f tax burden (7.5)
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‘a) Write down the major fiscal fumctions of a
government in an economy. Do you think that thege
functions often overlap in practice? (9)

n What are the instruments of sts&iﬁ@tﬁon policy
used by the goveenmueat? Discuss. ®)
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- SECTION B
7. In the first half of the year 2020, when globai crude

prices remained below $40 per barrel on average.
India’s retail pnces o petroleum. otl and lubricants

rematiged high. What were the reasons

M" l?%!w lws the relative share of Central
réraments in the revenue space provided

23 ts chsimged from 2011-12 to 2019-20
m mﬂ after devolution of taxes? (15)
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m&c gains from the implementation of Goods
Sedices tax (GST). What arc the distortions
&d with GST? (15)
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(_onswder the followimg information about an economy :

190 + 0.5(Y-T)
| 160
G = 200
{ = {90

Where € 1s the consumption fumiction, G denotes
government expenditures, T is taxes and 1 is plafned

mvestment

(a) Find the cquilibrium level of output (income) by

way of calculation as well as graphically. Also

find the goverament expenditure multiplicr and the
tax multplier. (6)

(b) Definc and derive the balanuetibudget multiphier.
if the govermment! increases its e:gndum and
taxes by 100 wnits cach, what Wowld be the impact
on the equilibriam level of incyme? Cafculate. Will
it remain unchanged? Why arwhy not? )
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10. (8) Discuss the role of Finance Commission towards

cooperative federalism and how it can remove
the imbalance in regional development in India
(9)

(b) Explain the difference between :
(i) Fiscal deficit and primary deficit

(i) Revenue deficit and effective revenue
deficit (3+3)
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